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(B) (A SR EME RS B8 0+ B EDBE (M) P EP LHRE RS 5550 L EEDEMm) ERFAR FRTEit AR RS
(C) #EN=&KBHA100kN/ MU T DX B DFEI D H DERKIEKN/M) (G) HIESHIMUTORIFEDOHIED D RAEKRN/M) LEREE
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(A) (B) (©) (D) (E) (F) @) (H) (A) (B) ©) (D) (E) F) (@) (H)
(1) | 1064 10 99.0 10 - - 10.6 2.1 106.4 10 96.1 10 - - 10.6 2.1
( 2) - - 96.7 10 - - 108 2.1 - - 96.7 10 - - 108 2.1
( 3) | 1807 10 98.6 10 - - 13.2 25 110.4 10 96.7 10 - - 108 2.1
( 4 | 1350 10 99.3 10 - - 13.0 2.6 134.2 10 955 10 - - 13.0 26
( 5) | 1333 10 99.4 10 - - 13.0 2.6 133.2 10 99.3 10 - - 13.0 26
( 6) - - 59.6 10 - - 8.3 17 - - 59.0 10 - - 8.3 17

2/ 2 ERE




